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(1) �
√
20�Cq�x�éØ��0.1%, Kx�ýéØ��� §

k  k�êi"

(2) �A =

(
1 1
3 1

)
§K�ê‖A‖2 = §Ì�»ρ(A) = "

(3) �f(x) = 8x8 − x6 + 3§K�ûf [0, 1] = §f [20, 21, · · · , 28] =

"

(4) �ng�^¼êS(x) =

{
x3, 0 ≤ x ≤ 1

1
2
(x− 1)3 + a(x− 1)2 + b(x− 1) + c, 1 ≤ x ≤ 2

§

Ka = §b = §c = "

(5) �é¡Ý
A =

0 0 1
0 1 0
1 0 0

§KGivensC�Q(1, 3, θ) =

 ,

¦�Q(1, 3, θ)TAQ(1, 3, θ) =

−1 0 0
0 1 0
0 0 1

"
(6) �f(x) ∈ C4[0, 1]§K÷vh(0) = f(0) = 1§h′(0) = f ′(0) = 3§h′′(0) =

f ′′(0) = −4§h(1) = f(1) = 3��$g��õ�ªh(x)� §

��{�� "
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^Courant©){¦)�5�§|µ 1 −3 0

−3 7 −4
0 −1 2


x1x2
x3

 =

−1129

−6


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eL�f(x) = e2x3[0, 1]«m,
�©:þ�¼ê�§©O^EzF/È©ú

ªÚEzSimpsonÈ©úªO�

∫ 1

0

e2xdx"

x 0 0.125 0.25 0.375 0.5 0.625 0.75 0.875 1

f(x) 1 1.2840 1.6487 2.1170 2.7183 3.4903 4.4817 5.7546 7.3891

�© µò<
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^���¦{�n¦��/Xy = a + bx2�²�úª§¦Ù�e�êâ�[

Üµ

x 3 4 5 6 7

y 19.0 32.3 49.0 73.3 97.8
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®��§x3 − x2 − 1 = 03x = 1.5NCk¢�§

(1) ^ÚîS�{¦�§�Ð�x0 = 1.5§O��|xk+1 − xk| < 0.05�Ê�¶

(2) �äS�S�µxk+1 = 1 +
1

x2k
éÐ�x0 = 1.5�Âñ5§¿{ãnd"
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^S�{)�5�§|

(
1 1

a 1

)(
x1

x2

)
=

(
b1

b2

)
§Ù¥¢êa 6= 1"

(1) ©O�ÑJacobiS�úª!Gauss-SeidelS�úª9tµÏf�ω�tµS

�úª¶

(2) �ÑGauss-Seidel�S�Ý
§¿¦a�����¦�Gauss-SeidelS�Â

ñ"
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�k�5õÚ�ªµyn+1 = yn+h[Af(xn, yn)+Bf(xn−2, yn−2)+Cf(xn−4, yn−4)], n >

4§Ù¥A,B,C ∈ R´~ê"�Tê��ªA^u~�©�§Ð�¯K
dy

dx
= a+ bx+ cx2, x ∈ [x0,+∞)

y(x0) = y0.

�§éu?¿�½�a, b, c ∈ R�±��T�§�°()(b½O�L§¥Ã�

\Ø�)§Á(½~êA,B,C"
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